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e &1 SreTEwATR arereff & gEaTER
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srsfial & forw arerear / Instructions to the Candidates

1. ma—ﬁqﬁwgﬁawa:wﬁ% | el 375 T feverROT WAt RT3 3R oY R SIresml / The question paper is in
the form of test booklet. All candidates will be assessed on identical questions.

2. mmmma%maﬁmﬁmm/mmmagmﬁmm, @), @ 3k @) Reaw i s |
Faer TF & 98T § 3N G 3UYSFT Sca] F AAA R STl / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

3. mﬁaa%wmaém@rm%%amﬁm—eﬁa%aﬂtmmmﬁﬁmwmmaﬁmml /Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

4 UE G ¥ RT3 e} &9 X SHE! el Seal A el / Multiple answers for a question will be regarded as
a wrong answer.

5. Sea¥ 3o ¥ fow melr 3sufdat oY ue 37erer AN Scck 97 Haled frar 7T &1 / A separate OMR answer sheet is
provided to all candidates for answering.

6. INTAAR T W T T 3egeeil F LA T STHHR T T et AR T SO 3eal 1 g F & faw
ST dfer UEe O (ASETel) FT TEET S|/ Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.

7. magﬁamﬁﬁaﬁra%?ﬁsmwé:mwgmamgmgjmgm%‘l = a9 § AR e F ST W
g 3 3T w7 & aier o) T A AR WX Iea¥ U T Hgdidhe Agl (T S| / Question booklets have been

marked with A or B or C or D or E on the right side top comer, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

8. mﬁmwﬁ@mm@wwaﬁaﬁ%ﬁwmmmﬁnm@%%umﬁmwﬁmmm
SR | sﬁwmmagagfﬁa%wmaaﬁaaam 3 3T AT OX S T § 31X S H RiSeT Harel

T 979 37 Ga &1 / Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

9. ﬁmwﬁﬁg@mﬁwmwmmmwmél =g fore arerer offe w1l & Sestl / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

10. faf@a e §Ard 8 W, Wmm@ﬂﬁﬂ%%%ﬁﬁﬁ@%ﬁmmmﬁ
SNy e @y iy 3 are &1 / On completion of the Wiitten Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

11, geT gATSd g1t 9 (1) e qfeT Fier o7 v 0¥ Fiet R w2 § 3R (2) AT Fea T fordrerss Y AT & AR
et oY qRTTRY & st ga@) @i & & ST | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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g9e7 gf3®T 12 / Question Booklet Code

01. arfaes ORa Rare. & faer EaRT &1 S ©

Direction of dynamically induced emf is given by

(A) W 7 aeEed = / Fleming's Left Hand Rule
(B) M3y for# / Gauss Law

(C) I T gfEvTeed @ / Fleming’s Right Hand Rule
(D) ®dic @ac f@ge / Biot Savarat Law

02. Uehcd T A RS ¥ / Basic unit of inductance is
(A) dET / Webber (B) eiar/ Coulomb
(C) ¥s/Farad (D) & /Henry

03.  aieT & FiFaT deIdT Tt @7 TR ST §7 / Which device stores electrical energy?

(A) 9@ / Inductor (B) e / Capacitor
(C) «IfFEex / Thermistor (D) wfaRree / Resistor

04. 3 foraeT & 9d & / The condition of Ohm's law is:

(A) argHEmeT @ R e a1y T / The temperature should be remaining constant
(B) V/| 3 R g =g/ Ratio V /1 should be constant
(C) R, dreedr & 3T &t =1 / Current should be proportional to voltage

(D) aET e gl a1fgw / Temperature should vary

FEReT dr (FafFefias) / Technician ‘B’ (Electrician) - 2018 — 3rsdamt / IPRC J




05.

06.

07.

08.

75T I3 H15 / Question Booklet Code| A

it i &1 gfae & / Unit of reactive power is

(A) VA (B) VAR (C) @ / Watt (D) KVA

P A 20V & dleeer # URT FW ¢, S ITHH ORT 5 Ahs F 10A F 20 A F seer or B ORoT

f‘s’?»ﬁ @1 YT 9T / A voltage of 20V is induced in a coil when the current through it changes from 10A to

20A in 5sec. Find out the inductance of the coil.

(A) 5H (B) 10H (C) 40H (D) 50H

Tehel el T.AT. AeX &, geria &1 393)er & Torw fvar arar §

In single phase AC motor, condenser is used for

(A) et =T fasTfara s / splitting the phase
(B) EIRTH&A &=l / minimising the current
(C) fEarcafdshioT T & =T / minimising radio interference

(D) @Il &I HF &= / minimising the losses

WRTded gare gIer TIfgw / A dielectric material must be

(A) 9feRIes / Resistor (B) 31¥-aTelsh / Semi-conductor
(C) facgaier = / Insulator (D) 31=a&T areis / Good conductor

TN RITE &Y (5FERT) / Technician ‘B’ (Electrician) — 2018 — amsdR / IPRC 4




g9t 9T F15 / Question Booklet Code A

09. e v &THr 3 ATAT STAT § / Capacity of battery is measured in
(A) UPIIT / Amperes (B) dlec / Volts
(C) drc / Watts (D) UfFRR-EC / Ampere-Hours

10. ﬁ@ﬁm@%ﬁﬁﬁﬁﬁﬁﬁﬁ%ﬁvﬁm@mﬁﬁﬁﬂﬁwmmﬁmm@

Which one of the following instruments is used for measuring specific gravity of electrolyte?

(A) 3coold HefegATdr / Hydrometer (B) argawﬁr | Barometer
(C) alecrHiex / Voltammeter (D) gFerEmr / Lactometer
1. ©g 1.5V el FAGR I3 §U &1 A9 dieear 3

Six 1.5V cells are connected in parallel. The output voltage is

(A) 9V (B) 6V (C) 3V (D) 1.5V

12. e CAHER Fetai@d fRgidt 9X F S §: / A transformer works on the principle of:

(A) IS @ sorIfoid ferae / Faraday's law of electrolysis
(B) E\Tm:gﬁﬂﬁqﬁmﬁ%@ﬁmm

Mutual induction between two inductively coupled circuits

(C) st & Fad: 97T / Self induction of coils

(D) wrafas AR gfadaes & S arele arT

Conduction of current between primary and secondary

JFNRrae 4 (3afFecRae) / Technician ‘B’ (Electrician) — 2018 — rEdEmRET / IPRC 8




13.

14.

15.

16.

3T UfasT #18 / Question Booklet Code

TR & fT arer Rdedd e @1 T 3

The colour of fresh dielectric oil for transformer is

(A)  Bo<hl drel/ Pale yellow (B)  &RT/Brown

(C) 918X 81T / Dark brown (D) IEET / Colourless

ﬁ?@g?[ HHYT & TaT gad 3YJFA AT §: / Most suitable motor for electric traction is:

(A) Srdr fic Alex / DC Shunt motor (B) 4. Avlr Hex/ DC Series motor
(C) g4 f&% #Arex/DC Compound motor (D) S ¥ FIS A6l / None of these

ST eiT AT F goie i feRm & JHR-IRGcT FH 3¢ & Tl 8

The direction of rotation of a DC Shunt motor can be reversed by interchanging:

(A) 9er cfdsal / the supply terminals

(B) haer 3R efA=Te/ the armature terminals only

(C) ad hres cfH=Tal /the field terminals only

(D) Wres IT FEHT AT feither field or armature terminals

LA SelReX H, vl @ 3. 7 i a1 ges 95 I

In a DC generator, which part will convert AC into DC?

(A) @FgEeX | Commutator (B) &%/ Field

(C) T /Brush (D) 3R /Armature

e IgeT dt (3eifFefRA=T) / Technician ‘B’ (Electrician) - 2018 — 3m&f3mREt / IPRC




9T IT¥&T F15 / Question Booklet Code A

17.  ws OROT Hiel & T FR q T

Starter core of an induction motor is made of

(A) ueferd gerar @ier/ Laminated cast iron
(B) g ¥/ Mild steel
(€) fafdela grard ¥fFdaT/ Silicon steel stampings

(D) #RA oIehsT / Soft wood

18. WWW%WWﬂTWW%W%W@ ¥ A ¥ T ST &

The difference between the synchronous speed and the actual speed of an induction motor is known as:

(A) s/ Regualtion (B) ufaard /Backlash
©) fam /Slip (D) =T / Lag
19. wmmﬁmmmmﬁwaﬁ giar &

A synchronous motor is called a synchronous capacitor, when it is:

(A) 379 Jeaferd / under excited (B) 31 3edfard / over excited
(C) 3@ &R / under loaded (D) 3ifeR / over loaded
20. ﬁagaqﬁqaaﬁraﬁ%mmﬁwmw@r ZarT S R S &

Continuity of an electrical circuit is usually checked by

(A) drecAdr/ Voltmeter (B) WX / Ammeter
(C) 30 AT / Ohm meter (D) FWW / Megger

FeliRraer @ (FafFeRae) / Technician ‘B’ (Electrician) — 2018 - 3mrsdEt / IPRC




21.

22.

23.

24,

72T 9T H15 / Question Booklet Code

UHELELE. &7 [3¥aR § / The expansion of MCCB:

(A) FET f@g=oT YRy fdAsish / Main Control Circuit Breaker
(B) HIeX fA=wr gRyger faAtsieh / Motor Control Circuit Breaker
(C) o9 9Ruy fa@ter / Miniature Circuit Breaker

(D) HIess Fa g9 fd3Ares / Moulded Case Circuit Breaker

feafaf@a 7 & Sl ar Are"s grecar 3T war &2

Which of the following indicates medium voltage?

(A) 250V ¥ 31f¥% 7ET / Not exceeding 250V
(B) 650V ¥ 3 1gT / Not exceeding 650V
(C) 650 & 31« 3R 33kV T / More than 650V and upto 33kV
(D) 415V ¥ 3™ 7ET / Not exceeding 415V

AT yhTeT sgaer F 9 gl A3 gr

Lamps in street lighting are all connected in

(A) 3TeIYid / End to End (B) Avlr/ Series

(C) EHIK / Parallel (D)  AUT-HHAK / Series-Parallel
hleT |T HeRT BT FolT G&T Yehrer fpfaT §7

. Which one is the best Energy Efficient Light Fitting?

(A) #ruw.ue. / CFL (B) @It &9/ Incandescent Lamp
(C) weRRIT o9/ Fluorescent Lamp (D) TSI /LED

TFATRIA Ay (gfFefR=eT) / Technician ‘B’ (Electrician) — 2018 — 3rSdi3mwe / IPRC




st ITT 1 / Question Booklet Code

25. T s foRell a1 ©C § / kWh is the unit of

(A) drecdr/ Voltage (B) €RT/ Current

(C) Taega <If&d / Electrical Power (D) ﬁ‘c‘ﬂ?—rﬁs\'/ Electrical Energy
26. gt U ey el T g A 3

Temperature limit of class H insulating material is

(A) 120degC (B) 155degC
(C) 180degC (D) 225degC

27. TR 7 16 TH.Sseg M. AR & ATHT I & / Nominal diameter of 16 SWG wire in mm
(A) 1.6 fAAT/1.6 mm (B) 12fAA/M.2mm
(c) 16f&A#/16 mm (D) 12 fA#AL/12 mm

28. 1000 dTe, 200 dree, FIeIe Fedlr F AT ded & HCRIL P 0T HT

Calculate the resistance of an heating element of 1000 Watts, 200V, electric kettle

(A) 5 3A/5 ohm (B) 0.2 301#/0.2 ohm

(C) 50 3i1A/50 ohm (D) 40 31#A/40 ohm

FFARNT & (saFeRa) / Technician ‘B’ (Electrician) — 2018 — 3T§H3MRT / IPRC




T3sT Uf¥&T F1Z / Question Booklet Code| A

29, Jet e F Uedsh 10 ATSHI s FHIA H F3 § | o €T I 9all ol / Three capacitance of 10 micro

farad each connected in parallel. Find out the equivalent capacitance.

(A) 30 ASshI Hes / 30 micro farad (B)  10/3 ATSsHT ¥3 / 10/3 micro farad
(C)  3/10 #ASsH TS/ 3/10 micro farad (D) 10 &SI HS/ 10 micro farad

30.  fmfaf@a & & Sie a1 A dor 8T & / Which of the following is not a primary cell

(A) s el / Dry cell (B) fe¥ener olig @el / Nickel Iron cell
(C) sfauer @er / Daniel cell (D)  olFerer ¥el / Leclanche cell
3. ¥ e & aret fohw aTw Het &1 fafRise aetea J

Specific gravity of fully charged cell shall be

(A) 1365 (B) 1165
(C) 1265 (D) 1200

32. ol s1Fer 3l A e g seer __ ®

Electrolyte used in a lead acid battery is

(A) gifed H,S0,/ Concentrated H,SO, (B) Fifed HCL / Concentrated HCL
(C) 3mgd Sfet / Distilled water (D) csehd HaSO,/ Diluted HaSO4

aeeifRIger Y (3efFeRe) / Technician ‘B’ (Electrician) — 2018 — 3mgd3mdt / IPRC 10




33.

34.

35.

36.

IeaT AT ®15 / Question Booklet Code| A

1.5 dec & 100 Wil #F Jee T 39T HidRe ufarier afa, Al 3 513 §U §1 Il o yferier 40 3097 §, ar

fohelaIT €IRT YaTE 8192 / 100 cells of 1.5Volts each having one ohm internal resistance are connected in

series. How much current will flow if external resistance is 40 ohms?

(A) 2.5 FTR/2.5 Amp (B) 1.0 UfPI/1.0 Amp
(C) 10.0 TFTAR/10.0 Amp (D)  25.0 UfPIR/25.0 Amp

TR 7ot 31egvrier & forw foRer YepR & 1.4l Hiex &7 3u=iter R ST 7

Which type of DC motor is used for constant speed application?

(A) Aol A / Series motor (B) 2T HIex / Shunt motor
(C) @ Hex / Compound motor (D) 3RIFT H T HIS 161 / None of the above

THL decdr # HA: 200 diee R 150 dec 1 FR.EA.CE. 7o AR ad To @ar §1 vl deear @

31‘@(_% aoTeh T §? / An AC Voltage has an rms value and average value of 200Volts and 150Volts

respectively. What is the form factor of AC Voltage?

A 111 (B) 0.75
(C) 1.33 (D) 1.414
O 7 iR Foit & STTHATII &

Energy stored in an inductor is directly proportional to

(A) i (B)
©) Vv D) V2

aweiiRrge dr (gfFefaeT) / Technician ‘B’ (Electrician) — 2018 — sm&dsma / IPRC 1




37:

38.

39.

40.

7957 93T 15 / Question Booklet Code| A

THT. IRY & Afed oTh & / Power factor of an AC circuit is
(A) kW = kVA (B) KW +KVAr
(C) KVA = kVAr (D) 3URIFd & T HIS AT / None of the above

AR & fRFa@d giferdl & & sier & Jmafed & ot o R aear &2

Which of the following losses of a transformer is depending on square of frequency?

(A) <lgT&rfel / Iron loss (B) dTe gTfel / Copper loss

(C) TREcRAw e/ Hysteresis loss (D) i &RT gTfeT / Eddy current loss

4000/400 dee, 100 3.d1.T. YT FT SEBIFR & gfachash Hsell 7 1000 H & T WTATAS B 3 T hr
T&ar & / A transformer of 4000/400V, 100kVA rating has 1000 turns in its secondary winding.

Number of turns in its primary of transformer is

(A) 100 (B) 400
(C) 1000 (D) 4000

40 dree I, 3 3T & &r eIl & arer Aol 7 o g% o, 3R FHIEK F 6 3 Tl F ST <)
& ToIT 3iTeY ig®reR TA9T fohaT ST §

40 Volts supply was connected with two numbers of 3 ohm resistance in series and connected to 6 ohm
resistance in parallel. Auto transformer used for,

(A) 24 3{1#H/24 ohm (B) 12 31#/12 ohm

(C) 3 37#/3 ohm (D) 9 371#/9 ohm

aFfrge Y (g FeR=e) / Technician ‘B’ (Electrician) — 2018 — 3T$HI3mE / IPRC 12




41.

42.

43.

44,

TR 9T $15 / Question Booklet Code

YIH =0T & THY. 3Ll 100W, 230V, % &9 gaRT 10 T & @ue Fat grem

Energy consumed by a lamp of 100W, 230V, 1 phase AC supply for 10 hours shall be

(A) 10 fF.arEe/10 kWh (B) 1.0 fx.arge/1.0 kWh
(C) 23 f&.aree/23 kwh (D) 230 fh.ar.&e/230 kWh
arg s faegeeiierdr & / Permittivity of air is

(A) 885x10™" Farad / mtr (B) 8.85x 10" Farad / mtr
(C) 8.85x10°Farad/mtr (D) 885x10° Farad / mtr

ﬁmwé:ﬁagammﬁ,qﬁamﬁmm@m%?

In which type of power generation plant, cost of transportation is minimum?

(A) ardiw/ Thermal (B) =A1f@hr / Nuclear

(C)  ter faege / Hydro electric (D)  Srerer fdege #=/ Diesel power plant

ﬁmwmm@@wﬁ@ammﬁﬁw?ﬂ

India’s first nuclear power plant was built at

(A)  TRIYX/ Tarapur (B) IO 99 ¥9R / Rana Pratap Sagar
(C) heurahd / Kalpakkam (D) $Saiheld / Kudankulam

dFerg oY (gefFefreT) / Technician ‘B’ (Electrician) — 2018 - 3mEdi3mdY / IPRC
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45.

46.

47.

48.

79T UT3T 15 / Question Booklet Code

faeeL 31T & AU 3uleT U Sif=Y aTe 3HTTwRITHAe T T ST LT ]

Most appropriate method of fire extinguisher used for electrical fire is

(A) I/ Foam (B) CO,

(C) STel/ Water (D) Yrdrdr. arssy/ PVC powder

Tep YR O gRaer 7 4R 81917 / Current in an inductive circuit

(A) dlecdr9*ddr/ Lags the Voltage
(B)  dlecdr 31T / Leads the Voltage
(C) dleedr o dY TIUT H /In phase with Voltage

(D) SAX A HIS ST AT/ None of the above

el gemra fraeh T o1e] 8, / Ferranti effect is applicable for,

(A) g TRa X@U / Lightly loaded lines (B) oIS AR XAV =1¢i / No load lines

(C) afAT B/BothA&B (D) @A 3R B/ Neither A nor B

Wﬁmﬁaﬁﬁa@wmwzﬂﬁaﬂ‘@_—_%

Declared value of frequency as per Indian Electricity Rules is

(A)  50Hz*1% (B) 50Hz+2%
(C) 50Hz*3% (D) 50 Hz

T Y (gafFcRTe) / Technician ‘B’ (Electrician) — 2018 — 3T§9I3m! / IPRC
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49.

50.

51.

52.

Tt 9T Fig / Question Booklet Code A

msﬁsﬂméﬁw%ﬁgﬁmaﬁmaﬂwmﬁaﬁmwmdiéﬁ?ﬁrwq\uma aifcrsr TR &y

R FAT0 @ ST &

Minimum horizontal clearance is to be maintained from the nearest point of any building to Low Voltage and
Medium Voltage over head lines is

(A 1.0#.M1.0m (B) 1.2%#/1.2m
(C) 15#MM5m (D) 2.0#/2.0m

B A TR o9 & T e7-10r ofaer e (Sueredi) i aror ary giem

Leakage current of Earth Leakage Circuit Breaker (ELCB) for house wiring shall be

(A) 30 el ¥PT9T/30 mA (B) 100 &I UTFFIRIR/100 mA

(C) 300 el TFAT=IR/300 mA (D) 1000 el ¥PT=R/1000 mA
TSt H UL 3R & R & / Expansion of HRC in fuse is

(A) 3= faiRa 4RT/ High Rated Current (B) 3= f&sier &7HdT / High Rupturing Capacity

(C) 3=a f1efie &7#7aT / High Rated Capacity (D) 3= fsfer &Ry / High Rupturing Current

T R 3 10 3117 T fRIE §1 38 o & g AR 5 FRRIe 37 9T oo, vy ol g 3R st

FIT &%l CUGH § | / A wire has a resistance of 10 ohms. Find out the resistance of another wire of same

material having twice the length and two times cross section area.

(A) 20 3¥/20 ohm (B) 10 37#/10 ohm
(C) 40 31#/40 ohm (D) 14 371F/14 ohm

AR &Y (FAFERTA) / Technician ‘B’ (Electrician) — 2018 ~ 3mEdama / IPRC 16




53.

54.

55.

56.

w3 gfaT w1 / Question Booklet Code

Tehel TXOT IROT A #, fasfad yadl so-3meot U ST &

In a single phase induction motor, the starting torque developed is proportional to

(A)  dreedr 3T / Supply Voltage (B) V?
(C) 1=V (D) 1+V?

Hiest FeTet & fore foet 31 Hrar 60:40 & 3fqarey & fAemr ST g 5 foreliamd GiesT a0 & oIt U i

rdalY ATET & 3YLET fRIT SATEE? / Tin and lead are mixed in the ratio 60:40 to make solder. How much

quantity each is used to make 5 kg of solder?

(A 1:4 (B) 2:3
(C) 2:25 (D) 3:2

Tt g 90T AreT Y Fergdr RsR 9Ror Arex I 317 Weretar &1 Sl §, STet;

Slip ring induction motor is preferred over squirrel cage induction motor where;

(A) 3T yadf S@-3MTEET 3T § / High starting torque is required
(B) SR So-3meol TR ¥ / Load torque is heavy

(C) & TaemoT I-31TeT 31Ta2ds § / Heavy pull out torque is required
(D)  3RIerd & G/ All the above

Ife P arT G erd womrelr i erfed &, dr Hepror-aifara gomelt dr aferd =m gief?

If P is the power of star connected system, what will be the power of delta connected system?

(A P (B) P=\3
(€) 3P (D) P=+3

FF=Rge Y (3afFefI¥=) / Technician ‘B’ (Electrician) — 2018 — 3T$9I3HY / IPRC
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57.

58.

59.

60.

T2 9T 15 / Question Booklet Code

TIATHIER Chl U1l I 9T w781 &, &ralfes; / Transformer tank is not filled with water because;

(A) 1= TS <fiefeft 90T 3R WS Freag eIl a[or §
Water has bad cooling property and bad insulating property
(B) Tl 3 Sccrat Tl 0T oifehet TRTS FaageRIe 0T &
Water has good cooling property but bad insulating property
(C) 1= 7 WIS <MeTetet U1 AfReT Sectet faegeRre a[oT §
Water has bad cooling property but good insulating property
(D) 3YRIFd H A FIS 3T 76T / None of the above

U TR &R T et 0T & / Power factor of pure resistive load is

) Ueheh I (0T / Unity power factor

) TRTIMEAT A IUTR / Lagging power factor
(C) 31T I [UTeh / Leading power factor

) 3IIFd H & IS off A&7 / None of above

Hieel H hadsT UgTe ol STl &, / Armouring is provided in a cable;

(A)  TaCgeRIE |1ed yeTe et & fow / To provide insulating strength

(B)  ifes &1fer ¥ hisier T &=t & fIw / To protect from mechanical injury to the cable
(C) &=if AGB /BothA&B

(D) 3IWIFT H & g AT 78T / None of the above

RO gfcrerd R ¥k a1 & / Inductive reactance is depends on
(A) 9&cd/ Inductance (B) 3idfed / Frequency
(C) eridr/ Capacitance (D) gl AGB/BothA&B

aFal et Al (gfFeRA) / Technician ‘B’ (Electrician) — 2018 — 3m&dismt / IPRC
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 22.04.2018 for Selection to the Post of
Technician ‘B’ (Electrician) — Post Code:007
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
01 C 31 C
02 D 32 D
03 B 33 B
04 A 34 B
05 B 35 C
06 B 36 B
07 A 37 A
08 O 38 D
09 D 39 dekk
10 A 40 Kk
11 D 41 B
12 B 42 B
13 D 43 C
14 B 44 A
15 D 45 B
16 A 46 A
17 C 47 C
18 C 48 C
19 B 49 B
20 C 50 A
21 D 51 B
22 B 52 B
23 ] 53 B
24 D 54 D
25 D 55 D
26 G 56 A
27 A 57 B
28 D 58 A
29 A 59 B
30 B 60 D

*** Questions not considered for evaluation



